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PaYsics 151
HOMEWORK ASSIGNMENT #3
DUuE JUNE 20

#1 Ships A and B leave port together. For the next two hours, ship A travels at 20 mph in
a direction 30° west of north, while ship B travels 20° east of north at 30 m/s. How far
apart are the two ships two hours after they depart? (Assume they both have constant
velocities.)

#2 Shown is the motion diagram for a car traveling along a road with constant speed.
g g g P
(a.) On the picture, draw the car’s three average velocity vectors, Vi, 712, Vas. (701
is the average velocity between 0s and 1s, and so on.)

(b.) Beside or below the picture, use your preferred method to draw the two change in
—y —
velocity vectors, Avy; = 712 — 701 and Avy = 723 — —\7>12.

(c.) At points 1 and 2 on your motion diagram, draw the car’s average acceleration
vectors.

(d.) Ifthe car is traveling with a constant speed, why aren’t the acceleration vectors zero?
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